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The auxiliary equation of the differential equation, ¥ + 2y" — 3y =0, is
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A function satisfying the differential equation on the interval I whose graph passes through (zg, o) such
that the slope of the curve at the point is the number y'; is called solution of the value problem.
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The gravitational force exerted by the earth on a body of mass m is called ------— of the body.
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For a second order linear ODE, if y; and yo are its solutions, and further Wy, y2) = — 2, Wy = i,
T

then u's =
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What is annihilator operator of the function

glz)=z'+5
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The combination of the Newton's second law and the Hook's law could lead to a differential equation governing to the motion of a
mass attached to spring i.e. mation.
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If 3.2 are real roots of a differential equation, then the general solution is
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Dy tary + apy = g(z).

If the input function, g(z) = cos 4z, then the assumed particular solution y, could be

Consider the non - homogeneous linear differential equation, any™ + an 1y
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IZ: The differential operator D possesses the praoperty.
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Consider the non - homogeneous linear differential equation, any'™ + an 1y™ V4. .. tary’ + agy = g(z).
If the input function, g(x) = "*, then the assumed particular solution y, could be
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If 2.2.5 are real roots of a differential equation, then the general solution is
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Consider the non - homogeneous linear differential equation, any™ + an 13" V... ta1y' + ary = g(z).

If the input function, g(z) = ¢"*, then the assumed particular solution y, could be
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Consider the non - homogeneous linear differential equation, any™ + an 1™ V... ta1y' + ary = g(z).

If the input function, g(z) = 2 — z + 1, then the assumed particular solution yp could be
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2: The combination of the Newton's second law and the Hook's law could lead to a differential equation governing to the motion of a

2 miass attached to spring L.e. miotion.
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For a second order linear ODE, if y, and y; are its solutions, and further W(y,, y2) =2, W, = .
T

then w', =
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Y= ell/2)= (€1 cos ?I + 2 sin v?;r}
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A set of functions
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The roots of the auxiliary equation, 2m® — 5m — 3 = (2m + 1)(m — 3) =0, for a differential equation is
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What is annihilator operator of the function

glz) =z +5
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The differential operator D transforms a function into another function.
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How are frequency and pericd related in simple harmanic motion?
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Their sum is constant \ \

They are inversely related

They are directly related
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Wronskian of 1and z*, W(1,z) =
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WWe can derive a differential equation governing the motion of 8 mass attached to spring when the Newton's second law combined
with
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Consider the non - homogeneous linear differential equation, any™ + an 1¥™ Y+... 4a1y’ + ay = glzx).
If the input function, g(z) = constant (say 1), then the assumed particular solution y, could be
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The roots of the auxiliary equation, m® — 10m + 25 = (m — 5}2 =1, for a differential equation is
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For a second order linear ODE, if y, and y; are its solutions, and further W(y,, y2) =2, Wy = = .
T

then w', =
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The gravitational force exerted by the earth on a body of mass m is called -——---— of the body.
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